BMI
"BMI Frame"

COMPOSITE DOOR JAMB
INSWING / OUTSWING
"IMPACT"

GENERAL NOTES

. This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building Code (FBC)

structural requirements excluding the "High Velocity Hurricane Zone" (HVHI).

. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base material

shall be beyond wall dressing or stucco.

. When used in areas requiring wind borne debris protection, this product complies with FBC Sections 1609.1.2

& R301.2.1.2 and does not require an impact resistant covering. This product meets missile level "D" and
excludes Wind Zone 4 as defined in ASTM E1996 and FBC Sections 1609.1.2.2 & R301.2.1.2.1.

. This "IMPACT" door jamb, as a component, is to be used as a substitute for a similar door jamb in an impact

approved (complies with FBC Sections 1609.1.2 & R301.2.1.2) door system possessing a current Florida
Statewide Product Approval (excluding the "HVHZ").

. The design pressure of the assembly shall be the lesser of the design pressure for the door jamb shown in this

approval or the design pressure of the door assembly used in conjunction with this approval.

. The maximum frame size of the door assembly shall be lesser of the maximum frame size stated in this

approval or the maximum frame size of the door assembly approval used in conjunction with this approval.

. For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x buck masonry construction.

. Site conditions that deviate from the details of this drawing require further engineering analysis by a licensed

engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

1 Typical elevations, design pressures & general notes

2 Elevations

3 Horizontal cross sections

4 Vertical cross sections

5 Buck & frame anchoring

6 Buck & frame anchoring

7 Bill of materials & components

BMI Frame

Head & Side Jamb

37.5" MAX
~— FRAME —=
WIDTH

97.63" MAX FRAME HEIGHT

(] | (]

[=—">74.5" MAX FRAME WIDTH —

\— SWING DOOR

UNDER SEPARATE
APPROVAL

P.0. Box 230, Valrico, FL 33595
813.659.9197

Documents Prepared By:
BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

FBPE Registry No. 9813

, DESIGN %W

BMI
COMPONENTS
PART OR ASSEMBLY:
TYPICAL ELEVATION,
PRESSURES & GENERAL NOTES

PRODUCT:

BY

NO., DATE

REVISIONS

37.5" x 97.63"

+60.0

-60.0

DATE: 7/05/22

SCALE:  N.T.S.

74.5" x 97.63"

+45.0

-50.0

DWG. BY: LFS

CHK. BY: RW

DRAWING NO.:
FL—41560.3

SHEET 1 oF 7

Z:\Clients\BMNA - Florida Product Approvals\FL-41560\C - Drawings\FL 41560 (2020)\FL-41560.3.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



"ON] SLNVLINSNGOD aNIaing "m'd 2202 Q9

€186 ON Ansiboy 3dad SNOISIAZY
L6L6°6S9°CL8 "ON euoud Ad 31vad TON o)
$6ECE 14 'ODMIDA ‘0T Xog "O'd \Su SNOLVAT T m 9 & W w. 7_
"ONI ‘SINVLINSNOD ONIgTING MW 'ATANESSY 0 Luvd ) M = Lwl|8
N RERERIE
60¥S¥ 'ON "3'd SININOJWOO NolEEle | _
IPIWYSS "4 UOPUAT INg eI el
110Nd0dd HAEIHEE &
O =
>0
o=z
2au
o <O
<o Z
Q0T
o > ui Z
Oox0O
— A —
i = —
OO
o=20 W
oy M z
0 m O
OO0 xO
HORno
. zx93
Sx0%
O3 F
e 50
X< £ 2
o o <S5
< wilH e = I
o owmEly5
mL._ z M.\r_u < on <
Ll
| o
e © O
msw . E
_ _ — o |
/ m
A X 2
v -
@
=<
o
T
<C
>
RN}
-
Ll
o
o
o
(]
iR}
1
)
Z
1/p]

Bmp 095 LY-14\0207) 095 L1 Td\sBuImesq - J\09S Ly~ Td\s[eroiddy 1onpold epuUOld - VAING\SIUBID\Z



ZA\Clients\BMI\A - Florida Product Approvals\FL-41560\C - Drawings\FL 41560 (2020)\FL-41560.3.dwg

1-1/4" MIN.
EMB. (TYP.)

~N
4

0.18"

—nt |=— C'SINK

(TYP.)

7“1\ HORIZONTAL CROSS SECTION

3

2X Buck Construction
QOutswing Shown {Inswing Similiar)

INTERIOR

T

INTERIOR

EXTERIOR

\\

N

1-1/4" MIN.

& o

EMB. (TYP.)

.V_v‘ . o

m HORIZONTAL CROSS SECTION

3

1-1/4" MIN.

A\

N

EXTERIOR

/"3 "\ HORIZONTAL CROSS SECTION

3 / Shownw/1X Buck

Outswing Shown {Inswing Similiar)

EMB. (TYP.)

2X Buck Construction
Outswing Shown (Inswing Similiar)

INTERIOR

A\

N

EXTERIOR

/~4 "\ HORIZONTAL CROSS SECTION

Shown Direct o Masonry
Outswing Shown {Inswing Similiar)

'y
S . .
S& DO
: \Q.'. ..n - i)
::-’g § ' _E . 19
- 0. 420
E 5? < g: == d ~
ZM9 g i8S, 20
- o z ._'\: 4 60} ©
’/ .°~ o Q\ Z L oo
- > SO St
,/ : pIY POy ‘ \\\ 5 S0 g
/,// \\\\ a > M Z
47 FE\\\\ Zdwop
TRV 8 R =
& o o xf'zs'g’
N g é z 9 [
vls te F0o
\ e £0 & Lol
£4Y 5024
% LY modoic
its S
o CZ
£ O
g Eu
8 2o
)
=
Qo
S
‘ &
1
= v
52 8
= > &
5% |8 S
= |3 2
o |a 2
=
. <3S
= | N
S o &
[}
e |F T
o o
>
m
1-1/4" MIN.
EMB. (TYP.)
%]
Z
O
2]
o
L
<
o
o
b4
oAtE: 7/05/22
seae: N.T.S.
DWG. BY: LFS
CHK. BY: RW
DRAWING NO.:
FL—41560.3

AL

W 1

A\ 7,
N *849 W

SHEET 3 oF 7

© 2022 R.W. BUILDING DONSULTANTS INC.



"ONG BANVLINSNGD 9NIGHNE "M 8202 @

£186 ‘ON Ansibey Idg4 SNOISIAFY
LBLB'6SO'CLE "ON suoyd A8 J1vd [ON ™~y
GBSES 14 OOUIDA ‘OSZ X0 O'd § SNOILD3S SS0HD TWOLLM3A m v % ow“ mw. 7_
"ONI_‘SINVLINSNOD ONIGING @ KTANISSY 40 Lavd ) I A
N Bv ]
60¥E¥ ‘ON "3'd SININOJNOO NoIElEle | _
plwyog 4 uopuil Ing ] M sl 2|2 o i
:110NA0Yd HAEIHEIE &
{'dAl) “aw3
NIW ./ 1-1
\\/\
[»'4
D»
[+"4
w
('dAL) "aw3 =
.7=§ _.V\—l—
s N ("dAL)

2 =~ ANISD
: S0

v

/"4 \ VERTICAL CROSS SECTION

Shown Direct to Masonry

\4-/ Outswing shown {Inswing similar)

EXTERIOR

s

EXTERIOR

SARVELVAR VY,

v

7“2\ VERTICAL CROSS SECTION

Inswing Shown (Outswing Similiar)

\U 2X Buck Construction - Double Door

('dAL) "awW3
NIW /-1

INTERIOR

INTERIOR

(‘dAL) gw3
"NIW /-1

v

7“3\ VERTICAL CROSS SECTION

\y Shownw/ 1XBuck =
QOutswing shown (Inswing similar)

EXTERIOR
?Ie Door
EXTERIOR

Inswing Shown (Outswing Similiar)

v

/"1 "\ VERTICAL CROSS SECTION

&/

2X Buck Construction - Sin

INTERIOR

BMp €095 L r-14\0202) 095 LY T\sBumelq - D\09S Ly-T4\sjeroddy 1onpoid epuold - Y\INE\SIUSID\:Z



SON] SANVATINSNGD anNigTing "My 2202 @

€186 ‘ON Ansibey 3dgid - SNOISIATY —
L6L6°6G9°CL8 'ON ®uoyd va | o)
S6SCE 4 ‘OSMIDA ‘0£Z Xog ‘O'd \Su ONIHOHONY 3Nved B Xond m o |2 2l g _M_
o_ﬂ ~Mm...zé.._zmzoo oNIgiNg @a ‘ATENISSY M0 Ladvd Q M - Yo
A\t i, g -
N\ WNOy /), 6oves “ON “I'd SININOJWOD N lslsla Y R
o venoar ISV L BB
D 49&0@@&\\\\ IPIIYOS 4 UOPUA] INg .e.. m slelE | B
S w”\\ :Ag_pedpde.d sjuswinsog :10NQ0¥d HEIHEE %
=2 8z 22y -L
Exi s
= . eoveyoN ¢ g
2 S
“, uooo- zmQﬂ r-ncoo-) ~
“iiijsa > o
%77, YHOS T\
Mo o
— 2
559 9
EE2 2
53 x %
=
(3004 .8-9) .88°9¥ =0
: o
(3004 .0~} 8805 \ _\ a s
m w AN_OOO :ol.wv :wm.N@ B * “\ E M
51 = A O3
Qe I R O < T =Z©
J —
— ) m “ @\ 0% x
w ac
E g
i
Yo
ERE
(%2 ]
[N}
i}
(%]
o o>
20 25 8
S0 232 2
- £ - I ®
&2 o) [52) w0 53 %X X
= ke . R Ol = -
gWVT 40 mohlf S 7S Z 0 @
WO¥4 856 9'0.lE x M.
S ik MW
W E
S FI'T) T o
— W) forst fod ﬂ wi D I 1 m
Lo Lo ] K] Olx ) =
gAVr 40 n_opl_ | e (AL} | =7 o
WOU4 .8€'6 J0.le x
)
25
~3Fe!
—.I.@ o ) 5 w0 -
NV _ =3 = 2 Qe )
WO ,8€'6 -— o Q
O O:@N G w [ -
£ o)
m =K o] Q
A \ - - D
N T8
- Q
s 3
g = R (*dAL)
= dAl) 0 x
3 — e .
a3 | _\T 9 0’0 'XYW.S¥1 = m
T o
Q9 _ ] _ _ _ _ o S 8 R&
E — OO
5 B 2 2 25
©® —_ 35 3500 @) T o=
i ¥ o m on vy
zZ=2 = x <3 =
o o = — D=2y, X
O X g Do A
cg  ® OO
=0 s
< m —
e 5 f
[T}
O o * /w * o
Z 3 <
* &
(dAL) "XVYW
0091 G
P
I 1 1 1 e
S
a : I
: 4 O
& o s <
o~ c..!... A
& RN p
x o C
l I I Ll . w
4'....“. - o ® [+%4
< Trdte S
w > . >l . Mv 2
P =

BMp 095 L1-14\0202) 095 L TA\sBuimesq - J\095 Ly-T4\sjeaosddy 1onpoid epuold - vAINE\sIUalD\:Z



Z\Clients\BMNA - Florida Product Approvals\FL-41560\C - Drawings\FL 41560 (2020)\FL-41560.3.dwg

% NOTE: FRAME CORNERS ATTACHED w/ (3) #9 X

"

RETLLLLZ
o QN x 3491 7,
3" (TYP) 3" DECK SCREWS @ HEAD & SILL (TYP.). = EOUN s,
. [T o 2N ,,

4 (TYP) p % ¢ g Eo2 e ' %", 5
EESOERR A me) ] | AMP)—— == 1vp) = BRE ok . s g azg b
.._.‘-. RN R ! _ ! 4"(TYP)———>! o~ e 5% gsgs_ E_-'f\
RS T i & 0% . — 855 .20
” } i I A I I < O & O SR L

: i t = RS ) Sa
3 ! < E 3{ 1T 1 >0 S 558y
i I TE I SEE DETAL 1 — in I pag\\\\ B o2 E

i ~ 2X BUCK it o R e N z no'o'ﬁ
I u ! A E SR 000 @, 9933
! (F)meuck 5% 888 38 93l
. I — /! DIRECTTO I 555 2£8 9§ fw

HEAD & JAMBS I FRAME [ MASONRY I — obh> €99 BREL

/ i HEAD & JAMBS i f b3 ¥8% 2w

(TYP.) I ok I ] 2t
2X BUCK i ( ) i (.5 . fq g '8
— i 1 I o {7s) 3 §,‘-‘-’ @
i — f T g = B o -
! ! o % i 3 i
Q
I - -~ I - 2% sle O~ . x
! GE f - = °F Q= !l B
” o I & = SEE STRIKE PLATE 21 =
Jk I 4 =% L I _ SEE HINGE DETAL l & DETAIL =
== i Tz Il SEE DETAIL 2 (vp) i J (Yp) 2R |3 3
A i SILL I : 3 S &
S I t : © e
L i - = (TYp.) A - ' .
Y
o | I & | L L 3 g S
TR T
* XX
MASONRY XX HINGE JAMB HINGE JAMB HINGE JAMB ASTRAGAL %
8-0" DOOR 7'-0" DOOR 6'-8" DOOR
2X BUCK ANCHORING FRAME ANCHORING
N)DIRECTTO
\ MASONRY
DIRECT TO DIRECTTO M )1xBUCK 2
MASONRY MASONRY S L )2x BUCK =
1X BUCK 1X BUCK o Ll i
o ] e
2X BuCK 2XBUCK ASTRAGAL BOLT \¥ e e @ ~
/ HOLE .
i , 3)—HEr—) \
7ol n 7ol HINGE DETAIL
i > N> I — = > = Z—— INSWING "
/ —— / ) = d N @< k——@ DIRECTTO =
© N \ MASONRY e
@ @D/ \v 1X BUCK S
@siLL
@siLL @ HEAD o T oY— 2X BUCK o 7,/05/22
@HEAD e @ HEAD LATCH & DEADBOLT DETAIL Ni[Ry R
\d o]
ASTRAGAL BOLT STRIKE PLATE DETAILS ASTRAGAL BOLT STRIKE PLATE DETAILS o [le 1 DWe. BY:  LFS
INSWING OUTSWING . cHk. BY:  RW
\ DRAWING NO.:
HINGE DETAIL FL-41560.3
HARDWARE DETAILS e ——

© 2022 R.W. BUILDING CONSULTANTS INGC.



BILL OF MATERIALS

- 0.75" -]

ITEM # DESCRIPTION MATERIAL
A |[1XBUCK (G >=0.42) WOOD
B | 2XBUCK (G >= 0.42) WOOD
C | 1/4"MAX. SHIM SPACE -

D | 1/4"X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
= | MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACT | - cree

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F | 1/4"X 3-3/4' PFH DeWALT OR ITW CONCRETE SCREW STEEL
L | #10X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
M | 3/16" X 3-1/4" PFH TW CONCRETE SCREW STEEL
N | 3/16"X 2-1/4" PFH TW CONCRETE SCREW STEEL
1 [HEAD & SIDE JAMB (BMI WPC) COMP
7 | WEATHERSTRIP FOAM
8 | SWEEP VINYL
9 | 4'X 4" HINGE STEEL
11| #9 X 3/4" PFH WOOD SCREW STEEL
12| LATCH STRIKE PLATE STEEL
13| DEADBOLT STRIKE PLATE STEEL
25 | #8 X 2-1/2" PFH WOOD SCREW STEEL
37 | ASTRAGAL STRIKE PLATE STEEL

-
o

DOOR PANEL (BY OTHERS - SEE GENERAL NOTE 4, SHEET 1)

BMI

5
B
= T2
8 -
2R
o R
b B
[
g 52 §
3 0 .
g cui e§
8 2o
1 WOOD PLASTIC COMPOSITE JAMB
n
e | =L
= xZ
vy Lk
S2 |58
o9 [ =<
=
=z |33
&3 n| CO
R EE
3 B°
.
(@) 14
& =
>_
o
2]
z
Q
0
|
o
CONCRETE ANCHOR NOTES:
. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance to mortar joinis.
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
muaintain the min. edge distance to mortar joints, additional concrete anchors Lot
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. ’Z
. Concrete anchor fable: o
- 3
=z
|TW BUILDEX 3/14 1-1/4 s 7/05/22
TAPCON® 1/& 11/8 z:/:&m NIES
DeWALT ® 1/4" 1-1/4"
ULTRACON+ CHK. BY: RW
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL—-41560.3

P.O. Box 230, Valrico, FL 33595

Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
FBPE Registry No. 9813

wood screws fo prevent the splitting of wood.

SsHEET 7 oF 7

ZA\Clients\BMNA - Florida Product Approvals\FL-41560\C - Drawings\FL 41560 (2020\FL-41560.3.dwg

© 2022 R.W. BUILDING CONSULTANTS ING.



